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public class ExerciseApplet extends MyApplet {
public void drawScreen(MyGraphics g, int width, int height) {
for (int x = 0; x < width; x++) {
for (int y = 0; y < height; y++) {

if (y < (height / 2)) {
g.drawBluePoint(x, y);

}

else {
g.drawRedPoint (x, y);
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public class ExerciseApplet extends MyApplet { \\
public void drawScreen(MyGraphics g, int width, int height) {
for (int x = 0; x < width; x++) {
for (int y = 0; y < height; y++) {
double re = 2 * (double)x / width - 1;
double im = -2 * (double)y / height + 1;
if (Math.sqrt(re * re + im * im) < 0.5) {
g.drawBluePoint(x, y);
}
else {
g.drawRedPoint (x, y);
}
}
}
}
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